Ironing machine / Bligelmaschine
BM16030

Tel.: +49 40 600 094 680 E-Mail.: info@wesco-navy.de




Ironing machine BM16030

Marine Execution

Roller length : 1600 mm

Roller diam. :300 mm
Capacity : 50 Kg/h

Heating : 11,4KW (electric)
Noise level :50 db

- High and even ironing pressure.

- Qutside lining is white.

- Linen is feeded and coming out on the
operator’s side.

- Ironer can be installed against wall.

- Motor-, heating and finger protection,
thermostat and start-stop-switch are
built in.

- Emergency stop.




DETAIL LEG "A" DETAIL LEG "B"

r____ 1

N N

— -
0 <
(=1
=) N
N
72 224
180 230
I
DETAIL VIEW "C"
[T
0
[}
N
546
552
DETAIL LEG "D"
28 496 28
—_——
J [oe]
N N
O/ THREADED INSERT §$\C
THREADED INSERT M10
o o N
THREADED INSERT M10 THREADED INSERT §$Kv
— 1 ©
N
%, >
DETAIL LEG "E"
m - O | ©
O(Exm\ycmc INSERT M10 THREADED _zwmm:iwb
o o X
O\|Exm>cmu INSERT M10 THREADED _zwmx;io/)
f B
= — =
28 496 28

Front view
— 1
= = = =% |
1073
O
_ g 8
= = | —
A B C
BM140.30: 1536
BM160.30: 1736
28 124 BM200.30: 2136 174 28
& &
[
__
s 1 . 3
< <
D E

PLOT OUT OF SCALE

Wir behalten uns vor, die technischen Spezifikationen im
Interesse der Weiterentwicklung zu verd@ndern.
We reserve the right to modify the specifications

if necessary.
DRAW. | AW |15.04.13
Ironing machine
BM 160-30 THIS DRAWING REMAINS REV. - -
Bligelmaschine THE PROPERTY OF
WESCO Navy
Tel.: +49 40 600 094 680 Fax.: +49 40 536 75 01 WESCO ZD<<

E-mail.: Info®wesco—navy.de

Hamburg




e

$500r HmGROO W NG

£ i
ra A P&
i e
Mg Do B A T L
. . 3 i % i
b % S -3 * = e, sedpeg FrERP Vo
2 ki % 1RiR R {1
b Ed kd el e b m _m‘# 3 R m& g
iif EEE RIS
i@ % “ %
fimdida i iUA LEe LGE I 688 Tty ik B3
 errd
ORIl o, SO it
At Bt
=) Ed E # 3 i % %
: e 3 o E o o 5 £ . = 5 o
S . a . c: % . - w 8 5 T A S
S VI Y xxi il R ; e h..ﬂ O T A ; R T i
B S By ow e Erissnpsssst o & .r» . Heral o R .r\.. s
2 . % s »ﬂ “
00 T IR N A Y SN S S B %
i & RN i . MO
-l Ry
i & et
B I I e T e . shall eSS wosnns  mbsine sofpss sesssd sesess eeses is;l%;.;.{ erres ssness messes  seesd wesses Greses  cadpes cesss ‘Mv»r Bebsh babenl sesssl sssses sssses ssesns esssee ssesre werere el
s
Ak & i St ks m ks Ao m
3 H E S5 A Lo
i} i w P e i s
: : W
pun SRR 2 i m M
.Ja»a\mhq\v\%r Mﬁﬂww WM W 5 = 2
mikiig: f i
H g
i i
: ¢ )
i Eias
W i
i i
i i

L

(optional)

Wiring diagramme
droning machins BMISUZ0

A48 Voln o0 Hz 3 Ph




